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QUESTION 1

Which three statements are true about the crash utility in Oracle Linux?

A. It can analyze only dumps produced by the kdump facility.

B. It can analyze the state of the system while it is running.

C. It can analyze only dumps produced by the Linux Kernel Crash Dumps (LKCD) facility.

D. It can analyze the state of the system after a kernel crash has occurred by using the memory image file produced
from the crash.

E. The kernel-debuginfo and kernel-uek-debuginfo packages are not included in the Oracle Linux distribution.

Correct Answer: ABD

QUESTION 2

Examine the two commands and the output produced: [root@host03 ~]# iscsiadm —m session iscsiadm: No active
sessions. [root@host03 ~J# iscsiadm —m node 192.0.2.1:3260,1 iqn.2013-03.com.example.mypc:3 192.0.2.1:3260,1
iqn.2013-03.com.example.mypc:2 192.0.2.1:3260,1 ign.2013-03.com.example.mypc:1

Which option represents the correct command or commands to establish iISCSI sessions with the target portal
192.0.2.1:32607?

A. iscsiadm —m session -1

B. iscsiadm —m node -1

C. iscsiadm —m discovery —t st —p 192.0.2.1 iscsiadm —m session -1
D. iscsiadm —m discovery —t st —p 192.0.2.1 iscsiadm —m host -1

Correct Answer: C

QUESTION 3

Which three situations can result in a kernel panic if the required paramaters are set appropriately? (Choose three.)
A. panic if disk I/O rate exceeded an administrator-specified limit

B. panic if a task hangs on disk read for more than an administrator-specified limit

C. panic when CPU utilization remains at 100% for more than an administrator-specified limit

D. panic when out of memory

E. panic if a task hangs on disk write for more than an administrator-specified limit
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F. panic if network I/O rate exceeds an administrator-specified limit.

Correct Answer: ABC

QUESTION 4

A container is not starting.

What is the best way to debug the issue?

A. Use strace on the Ixc-start command.

B. Use gdb on the Ixc-init executable.

C. Look in /var/llog messages for ixc failures.

D. Increase the log level of Ixc-start with the -1 option.

Correct Answer: B

QUESTION 5

Which single statement is true for creating a labeled filesystem in RAID-1 on devices /dev/sdc and /dev/ sdd?

A. mkfs —t btrfs —d raid1 /dev/sdc /dev/sdd

B. mkfs.btrfs —d raid1 —L Btrfs /dev/sdc /dev/sdd
C. mkfs.btrfs —r raid1 —L Btrfs /dev/sdc /dev/sdd
D. mkfs.btrfs —L Btrfs /dev/sdc /dev/sdd

Correct Answer: B

Reference: https://www.howtoforge.com/a-beginners-guide-to-btrfs
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